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for the questions

Answer one question from each Unit
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Describe the three-schema architecture
With a diagram, » 5
2‘:(1&2?83:8 being constructed to keep
sports Je € teams and games of 2
players 3gue. A team has a number of
each 'ga’mnOt all of whom participate 1?
the pla, e ltis flesired to keep track of
for each ., Do ticipating in each gaim®
in that game .. the positions they played
Design ane and the result of the game:
application ER diagram for this
you make é Stating any assumptions 8
- Choose your favourite sport-
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the EER model.cept of specialization 1? 2
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H " brief with diagrams.
ow ;
i er(::t sf:'?COnda_ty indexing techniq¥® 3
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)
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UNIT—III

S. (@) What are the various relational integrity
constraints? Discuss each in brief with

example. 2+3=5

(b) Discuss any two from the following in
terms of relational algebra : 2+2=4

(i) INTERSECTION
() NATURAL JOIN
(i) CARTESIAN PRODUCT

(c) Assuming the tables Employee (SSN,
FName, LName, Salary, Deptld, Age,
Address, Pincode) and Department .
(DeptNo, DName, DLocation). Write SQL
for the following : 3x2=6
(i) List the tuples of all the employees
who work for a department located
in Shillong.

(i) List out the department details
for all the departments where

employees are going to get retired

this -year.

possible violations for an

6. are the
a) What on? Give example for

INSERT operati
4
each. '
. tax of creating a view
(b) Explain the sy%
with an example. - 5
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(c)  With reference to the above tables, write.
the relational algebra for the following :
. 3x2=6
() List the details for all the employees
working for Research Department

earning salary between 25000
to 40000.

(). For every department located in
Jowai, list out the employees
getting an average salary of 30000-

UNIT—]V

7.

(a) What are the various interpretations of

| NULL values for a tuple in a database?

() . Discuss 2NF. Given the FD’s, normalizé
the following into 2NF - 1+2‘3
EMP proy . .

""”Rs B e

FD2
FD3
8 @ wy s 1
depir:ld are. two sets -of funct.iorlal
(b) N enmes said to be equiv ale nt?
. COnsider

A the following sets of FD :
.. G ACoD B ap, E-H
Dete.rmA,: CD, E - Al
® Whether they are equivalent:
. D9/es

( Coﬁtf"“ed)
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UNIT—V

9. (@) What is a transaction? What are the
desirable properties of a transaction?
Briefly discuss each. 2+4=6

(b) Discuss any two of the following : 3x2=6
(i) Two-phase locking protocol |
(i) Deadlock detection )
(i) Encryption .
10. (a) What are conflicting opefations? Check

whether the following schedules are
serializable or -not : 2+2+2=6

) n0d r200s- woldy wylxs 2% 3@
wy () ws)

(i) r3(x) n(x); wald; walxh wild)

(b) Describe the wait-die and wound-wait

protocols for deadlock prevention. 3
(¢ What is the role of the DBA in
maintaining database security? 3
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